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= 781,000
< 390,500
[Ea 390,500
Mo I E XS EBI(HH AR F)(2IN(HE)) 750,000 0 750,000
= 375,000
== 187,500
[Ea 187,500
401 AIEHIZ R 0HYI 750,000 0 750,000
= 375,000
=S 187,500
s 187,500
01 AlZ8| 750,000 0 750,000
O2I(HE)NHATHHRA NS X7 HHIAS 750,000
[ 375,000
= 187,500
[Ea 187,500
SEAK SUAE XS EH (HE3RT) 1,300,000 100,000 1,200,000
[ 650,000
= 325,000
Ea 325,000
401 AIZHIX S0HH 1,300,000 100,000 1,200,000
[ 650,000
= 325,000
= 325,000
01 Al&H| 1,300,000 100,000 1,200,000
OUJt HE3X7 SEAK SUAEXNS &
HIAHS 1,300,000
[ 650,000
= 325,000
= 325,000
SBA SUAXA (BB 1K) 40,000 0 40,000
[ 20,000
S 10,000
= 10,000
401 Al HIZL 01| 40,000 0 40,000
= 20,000
[ 10,000
Ea 10,000
01 Al&HI 40,000 0 40,000




SA: etd et
M Mg XS
&2l THOH Ol AL

(u]

hl

1
12
12
0x

SA - B SRIBH) - MRAR - BAS A HIDEZ
Oot gkl SEAHK SUAEXNS &
HIAH 40,000
= 20,000
& 10,000
T 10,000
SR 315,572 301,880 13,692
s 4,000
s 311,572
SAASA 315,572 301,880 13,692
& 4,000
Ea 311,672
Htss=+ 243,320 243,740 A420
201 et ] 200,000 200,000 0
01 AlR2telHl 200,000 200,000 0
OMNci=- &4 100,000
OXHoHAHM CHH 100,000
203 HR=AH] 1,000 1,000
03 A=A PR FA| 1,000 1,000
OXATMt HR=E X3 1,000
302 OI== a2 &= 42,320 42,740 A420
02 2t =R ES2a=3 42,320 42,740 A420
Oty & 57 olel Al
, 0003 *10E 5L« 14 5H 5,600
OMaioey & 5+ s
,600&*100 £ =32+ 144 EH 6,720
OMXIES 30,000
THEFALE TR 51,212 37,100 14,112
201 223 27,400 20,500 6,900
01 AtR2t2lt] 27,400 20,500 6,900
OXrATHEHHE] E = &
30,000& +50 1,500
OXHA TN 2 HE M 1,000
OA%E AT , SEHE 3)
200,000 x5 +33] 3,000
OMoi g erE ot SRS
100,000& x5 & %62 3,000
os=2= MH 6,000
O&==xt 29 12,000
OXt= et 2 S2= ME 900
206 M=l 15,000 12,600 2,400
01 MHZHI 15,000 12,600 2,400
=2 X et 4,000
ON& 8=
100,000& 14045 1,400
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Ha: =K
=@t SR AK (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ONWSE TrATHLHE =T & 9,600
ObIER2el=0U S 7
1,0002 %1471 S 2 *400K 5,600
Og=+x 5 =23l F 4,000
301 22N = 8,812 8,812
11 AALEEIXIRE S 800 800
ONANBYME DREH +¢
50,0003 x4 #43] 800
14 IIEt2 8 8,012 0 8,012
OXNS Mt AH=E
10,0303 *2A| 2Hx50H +4 2] 4,012
OXS A= Mt =2 L=
20,0003 +200& 4,000
EHEE(EX) 10,000 10,000 0
= 4,000
= 6,000
307 elztol & 10,000 10,000 0
= 4,000
Ea 6,000
06 28= 10,000 10,000 0
OS=+l28 f8= 20,0003 %500 10,000
=S 4,000
s 6,000
E0HZ2E (KA 1,040 1,040 0
201 2= 1,040 1,040
01 At2t2lt] 1,040 1,040
OZ=oi28 JIUEL &= & & £X
60,0002 x14HSH 840
OS+oli2E Y 2R3 78
1,000 *200% 200
L XAE X XA 10,000 10,000 0
402 2I2F X201 & 10,000 10,000
01 SIS ASE R (RHMITHR) 10,000 10,000
O&==YIIAE &X X 10,000
MEOLM DB T4 1,340,452 1,427,607 A\87,155
= 134,400
o 1,206,052
CCVSE2NHE =24 1,340,452 1,427,607 A\B7,185
= 134,400
s 1,206,052
2HHE 29 767,486 705,856 61,630
201 =3 767,486 705,856 61,630
01 At22t2lt] 366,392 326,405 39,987
oget=ZH| 3,400




FA orA 2|t
I MEotd gt &4
el CCIVEEZNdH 29 (St &)
A - ZB - ERI(E) - KIRAY - BaS ol &4 e HIDEY
O=2AD|, Zgiy 2258 7
500,000 *22] 1,000
O2HdH 28 =28 78
500,000 *23] 1,000
Ogad2xaINI| 2AYE SH+=E
100,000& »7 =22 1,400
OzelEH] 362,992
OYHE(XHPSQIAL) CCTV SR+ 51,000
oY E(sg4) TV |2+ 77,699
OlrSdE IV KNS (HSH S§) 60,293
OCCTVS S 2 HIAI A HW S X2 64,000
OCCTVSE 2 MAIAE SW SRS+ 110,000
02 2324l 401,094 379,451 21,643
0332 € MAl 401,094
oV &J12=3
6,700& +42004 2+ 122 33,768
OGI=¢&EE CCIVEA =262
10,0002 %3002 &+ 123 36,000
OCCIV HEdz
63,5003 *4202] &+ 123 320,040
OxE& W (CIVHEH MBI Z(NEHISE
IAEALZ) 49,5003 x192] &+ 123 11,286
SHRIAIE st 139,100 298,000 158,900
405 KHAHF SH 139,100 298,000 158,900
01 TR ESF SHI 139,100 298,000 158,900
OZMEE MEHI(AERIX) B 57,500
ONMEZHAY == WX 70,000
QHAZZ I P 11,600
O M E 1,033,000 *1CH 1,033
OZ )= F= 329,230 1104 3,622
Ocl=24 559,680 = 11CH 6,157
OPCE 23,8703 +33CH 788
CCTV & X 241,866 303,751 N61,885
401 AIEHIZ SR OHYI 241,866 303,751 AN\61,885
01 A&l 238,500 294,000 /55,500
ogHE CCv &xl 204,000
OYHE (X SIA) CCTV =F WX
6,000,000& +5CH 30,000
OgdgE(sg4) TV &7 &X
6,000,000 *10CH 60,000
Oy E(sg4d) v =t 34
4,000,000 ~6CH 24,000
OgHEs(sd4) TV = nA
3,000,000 *30CH 90,000
Oz2lg=-tl 34,500
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24
Siol: (CVERZHME 29 (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OgHE IV 28=-7H|
3,500,000 *32] 10,500
OltsgdE IV 218574l
3,000,000 +82] 24,000
03 Al 20HHI 3,366 9,751 6,385
OCCTV BHEA SRS U
336,600 *100H A 3,366
Xsdg CCv £ X2 192,000 120,000 72,000
= 134,400
[Ea 57,600
401 Al HIX S0 192,000 120,000 72,000
= 134,400
o 57,600
01 A28l 192,000 120,000 72,000
OXsg CCv &4l 192,000
= 134,400
o 57,600
SCHTHOH Ol 2 127,300 84,050 43,250
= 8,700
o 118,600
SUHOHOIZE ot OrMSH At E =4 127,300 84,050 43,250
s 8,700
s 118,600
S HOH Ol AL 25,000 25,000 0
401 A2 HIRL R 0HbI 25,000 25,000
01 Al&HI 25,000 25,000
ogdygIt 89 25,000
HMEAXIZ0l 2 14,000 0 14,000
= 4,200
= 9,800
201 er2 3| 14,000 0 14,000
= 4,200
Ea 9,800
01 AtR2t2|HI 14,000 0 14,000
OHHEAXZO0l 2
400,000 #3504 2 14,000
== 4,200
[Ea 9,800
SUMHoHME ZRFA 79,300 59,050 20,250
201 er23 | 79,300 59,050 20,250
01 AfR22IH| 57,800 59,050 1,250
MBS AR 227
7,0003%200F <122 16,800
OXHI=Y 9,500,000 22 19,000
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M SOHTHGHOo
Chol: SCITHAHOI DL OHREH AIRE XA (chol @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OS+=AZH NI 100,000& *140H 14,000
(@)1= apestall 8,000
OSUMal Y 82 & ArHEH 3,000
OLHOtNEH 28 =25 3,000
Oetd2A W= X 2,000
2 s5=34l 21,500 0 21,500
OSSN Bia=e SHl 21,500
SHMHaHHY 2&E XA 9,000 0 9,000
=S 4,500
s 4,500
201 fer=3| 9,000 0 9,000
== 4,500
[Ea 4,500
01 AtR2t2lt] 9,000 0 9,000
OSUMHoiH &g X2 9,000
S 4,500
= 4,500
dF2LFH|(ed2e|n) 660,938 561,287 99,651
JlEdl(erd el 45,558 49,750 N4, 192
HY =X B 4,800 4,800 0
203 =] 4,800 4,800 0
M EASHLRFAH 4,800 4,800 0
OR NS
400,000 123 4,800
ot2 | 12,758 14,950 A2,192
201 Ler23| 12,758 14,950 A2,192
01 At2teltl 12,608 14,800 N2,192
Odgt+==H| 7,100
(©f=xals] 9,000 x17H*34!x 12 5,508
02 s3=gHl 150 150 0
0Z332= % HMAl 150
1] 28,000 30,000 22,000
202 04l 28,000 30,000 22,000
01 SLHoIH 28,000 30,000 /2,000
O=LHxHI 28,000
ol (erd2te| ) 615,380 511,537 103,843
s 615,380 511,537 103,843
101 @12A4H| 576,502 432,717 143,785
03 SRA(RIH )22 U2+ 299,056 348,519 A\49,463
OZMIUIHRH(SRH) 299,056
OoJlzs 10,0303 x160A| 2t 123 +8H 154,061
O=s=g 10,0303 *7 Al 2+525=+8H 29,208
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M HAPAZH|(rE2e|Dt)
CHel: QI 2H|(orM 22| 1t) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Osg(22)+g
10,0303 *7 Al 2+ 150%+ 182 8L 15,166
oort=22=¢
10,0302 x4 A1 2+x50%+ 122 8L 25,998
Odxt=< 10,0303 *7 Al 2hx 1124 +8H 6.179
OJlg4g
10,0303 * 160AI 2+ +50%+4 2 01 +8H 25,677
OE &=yl
10,0302 * 160AI 2++60%+22| x8H 15,407
OEx=g 100,000& x 12 ~8H 9,600
oIS 50,0002 x 122 8% 4,800
OxR2ged 135,000 x 12«8 12,960
MU IIRINZZE2NSES 217,446 84,198 193,248
OZHZLIHRAOIRIMZZXL) 138,723
OoJlzs 10,0303 x160A| 2t 123 x4 77,081
O=Fs=g 10,030 *7 Al 2+525=#4H 14,604
O (22)E
10,0303 *7 Al 2+ 150%+ 182 x4H 7,583
oortz2Z2=+¢
10,0302 *54A| 2+ 500+ 122 x4H 12,99
Odxt& 10,0302 #7 Al 2t* 1124 %4 3,090
o= 115,304,880 *13% 14,990
g3 70,2102 %302 x4 8,426
OS2 (OIHHM2ZAL) 138,723
OoJlzs 10,0303 x160A| 2t 123 4 77,081
O=Fs=g 10,030 *7 Al 2+525=+4H 14,604
Osg(22)sE
10,0303 *7 Al 2+ 150%+ 182 x4H 7,583
oortz2Z2=+¢
10,0302 *54A| 2+ 500+ 122 x4SH 12,99
Odxt< 10,0302 7 Al 2k* 1124 %4 3,090
od=Ee 115,307,000 *13% 14,990
O&lx= 70,2102 %302 x4 8,426
4 HA=2E=SS 38,878 78,820 N39,942
04 SR (RIH 22N BE=RES S 38,878 78,820 A\39,942
o4lh 288 % EX=3 38,878
(@11 1-=h= Y= 299,056,000 *13% 38,878
HeRas(erdae|t) 965,475 852,292 113,183
WS HeH RIS (et 22| 1) 965,475 852,292 113,183
Met2eDls 8Es 965,475 852,292 113,183
(VI TSE= 965,475 852,292 113,183
0 JIsdEs 965,475 852,292 113,183
oms2eI2 MES(HEHE3) 470,475
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